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MIAED STRATEGIES for O-SUM GAMES

A,Bcompect &eC(A xB)
in A

MERCA) => * Race veniable with distrisch-

UEIP(B) => I u ↳ in B

i.e. (CS) =h(5) P(IET) =v (B)
5 Bok set.A T = B
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G (VonNeumann) In 2-person O-Smm MATRIAGAMES,

the value in MIXED STRATECIES ENSTS.

(i.e. the gene (P(A), PCB), I) has a value)
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COMPUTATION OFSADDLE POINTS in MIXED STRATEGIES.

EAN:If (A, B, I) has a valuev in pure strat.

It =r =4=> I =r B

Look fa. (**, y)eAm* An Sadolle far XTMy =E,
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Hw Et [Banch thu. 2.11 p.56-58]

Every 2x2 gene M=() les saddleport
EITHER IL PURESTRAT.So in MIXED STRT. COMPUTABLE

Explicitely by solving 2 linee equations.
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Vale in nited strategies for general 2-p orsam

gene. (just. mainioleas, details in [Bressan]).
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P(A), P(B) subsets ofreato space ofRadom measure.

Le P(A), IP(B) are conver
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compect:weak * tohology or PA) is a col

ofCCA) with uniform convergence.

Det. (Malbox in PCA) cour. wech & to MEPA) it.

FfECCA) lim/fohm=SpAoh.1 ->0 A
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Ihi. Acompat ->P(A) with I topology is

METRIZABLE K SEQUINTALLY CMPACT ., i.e., FMr) meN
in PCA), 7 Man, but

so:Man MEIPIA).
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G. LofU,Neuven MN-RAA THM. 1. A, BER" Confect,GC(AXB)

->
the gene has a value in mixed strategie

PI. Gome (P(A), P(B), E) satoess of ViNew.the.

Remains only: E is CONCAVE-LuVEt.

#(3n +(1 -3),) =(((a,s)(bdu() +(1- s)dt(r))dr(b) =

=(,(23)d()dr(b) +1 -3)(SE(2,b)a(a)dr(b) =

=(*(r,r) +(1 -x)E(i,r) =Mar,2) is LINEAR
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Similaly WHE(,5) is LINEAR - CORA.

U.New.The => (B(A), IP(B), I) has a solo.
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NON-ZERO SUM CAMES. For simplicity just 2playes

I given A, B sets ofdecisions on strategies
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· ZEN SUM:EA+EP =0 4s =0 = - It

· if *-IP =0 leach to OPTIMz. PB. in AXB


